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Intro

Today we will 7”va learn 1"y 97 of 137730 noon
Some of the topics we will learn about include.

The reasons why nnb>, a wife's daughter in-law, does not
become 710x to her husband through the mw nym of it
ant.

Three sources for

MONRD N2

If a person had a daughter born out-of- wedlock, and so
it's his daughter but not his wife’s daughter, and he was
nnn with her, he gets nomw.

Three mwa7 in the Pasuk

AMmIAY 302 nR 55N SR

1.

MYWR OWS RHW 1N DR TO13

A father may not assign his daughter to someone for ma.
2.

TR MPHR 727

710102 DR RWPA

A father may not marry off his daughter to an old man,
because as Rashi explains,

PHY RO I INDAPH NPRY PO

Since they are not intimate, she will be n11» with others.
3,

IR RVPY 127

DN RAWDAM

A father may not prevent marriage from his daughter who
is already of marriageable age because

iyl ﬂT’PDﬂ'? MNDODY

Since she has a strong desire for a spouse, she will be 731
with others.

The Machlokes regarding

isksRianvRisilely

Whether one gets 197w for marrying his mother in-law
after his wife’s death.

The Mishnah of

PN R

The two transgressions that are punishable with 9o,
beheading with a sword.

DNT7I0 Y WIRI NXI0

A murderer, and the residents of a city that worshipped
a9t 7Y,

JAR21797

RARIVRvA]

If a nx17 hit someone with a stone, he is only 27n if the
stone was the size of a handful. However

572

Niw 1

If he stabbed him with the sharp point of an iron, he is 271
even if the iron was extremely small.

DafHachaim.org

The reasons w
NN
a wife’s daughter in-law,
does not become MDpN to her husband

ﬂweewurm/w
1IN0NIRN 1N2

Three s in the Pasuk
it s e Do o

1
MR DD R5W 102 NN DIN2

2
IOIN ITVIBHN 1)
JPTD 12 DR MWD T

3
IR RPY 1)
NI N2 NOwHN NT

NN INRY IMNN

129010 19X
NNTIN 7Y 2WIR) NN
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Solet'sreview ...

The Gemara in the previous Daf discussed the mw 77 of
ot o that teaches

1301 N7 INY

13D RIT IRWD

The husband’s relatives and the wife's relatives are
equally forbidden to him.

The Gemara asks if so,

TOR NI RIA NN

TIOR N9 R R

The mw 771 should also teach that just as the husband’s
daughter in-law is forbidden to him, so too, the wife’s
daughter in-law should be forbidden to him, and the
Halachah rules otherwise

PNN NWNRIDTR AN

A person is permitted to marry the wife of his step-son, in
other words, his wife’s daughter in-law?

The Gemara offers two explanations

1.

73N says N> is not MoK, because the Pasuk of 105 states
RT3 TWR 930 RS N5 M

The exclusive words X’1 712 come to minimize

1277 PR 32 DUR DIWD

732 NWR DWW 1271 INR R

One is liable only for the wife of his own son, but not for
the wife of his step-son.

2.

X217 explains

A AP PT TS 2

AINRIPIRI FIPD T IORT RO P2

N'TIR KD

According to both opinions in the way a mw 771 works,
this mw 771 cannot teach an Issur for nn5>.

And the Gemara goes on to explain that the mw 77
cannot work regardless of whether we hold
nailsiakapilvle;

OR

malisiakalaplv]

Similar, to what we had in the previous Daf;

DafHachaim.org

MY NPT of DT NNT
teaches

1201 XRaN IRY
NN RIN IRWD

The husband’s relatives and the wife’s relatives
are equally forbidden to him

?
%gemm/@ky%w,
NMOR 1NHd RIN NN R
NMOR NNYI RN R

The mw n»1a should also teach that
just as the husband’s daughter in-law
is forbidden to him,
so too, the wife’s daughter in-law
should be forbidden to him

and the Halachahy rales otherwise

1201N NYN2 DTN Y0
A person is permitted
to marry the wife of his step-son

i ather words,
i wife’s dussghter in-low?
1

NnYd is not MOR

N i TN iR N e
£ b come To mini
12°DP NN 122 DYR DIVD
122 DR DIWD 127NN NNN N

Oneis liable only for the wife of his own son,
but not for the wife of his step-son

2

N NI T T7P) p2
NN PINT NID PT IRT JNDD P2
N'DN NS

And the Gemara qoes on to explain

the mw n»1a cannot work regardless of whether we hold
DN ADPD OR NNON NI
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The Gemara proceeds with three sources for 757w and
mmR regarding

MONRN N2

Ifa person had a daughter born out-of- wedlock, and so it's
his daughter but not his wife’s daughter, and he was 73t»
with her, he gets now.

There is no explicit source, because the Pasuk regarding
INONRD states

Y 1230 KD N2 N2IR P2 DA MY

0 M D

The Pasuk only mentions his granddaughters, but does not
mention N3, his own daughter?

Therefore,

1.

»2R says the source for the Wiy and MmN of INOURN N2 is
ammop

WY NNy

PR IN Y

If there is an w1y and 77K for mi with 1na n3, the second
generation, there certainly is an W and 73mR for mn
with 103, the first generation.

2.

K17 says the source for the wny and 77mR of INOURHD N2 1S
through the two nnhw

730 737 RN

T 7T RN

As explained in the previous Daf, first through the word
737, and then through the word 1.

The mw 771 of 7137 M teaches the 7IIN:

The Pasuk of inwx states

71930 RY N2 TOR MY

MY M5 Npn RS N3 N2 DRI DA R

NI 708 737 IR

This Pasuk refers to those born to inwR because the word
7N is defined as an Halachically married wife.

While the second Pasuk of \nonR states

7Y 230 R N2 N2IR P2 N2 MY

MmN I D

This Pasuk refers to those born to HIM, even through
1NONR, because the Pasuk does not specify nwx.

And the mw N1 teaches

N2 125 N2 0077

N1 N2DIN2IRI IR

Just as, regarding 1nwx, her daughter and granddaughters
are equally 770K, so too, regarding 1oy, his daughter and
granddaughters are equally ox.

Then the mw 773 of 1 o1 teaches the wi, that for mx
with any of his forbidden descendant’s 1nouxn», he gets
197w, as was explained in the previous Daf.

The Pasuk of 777X in *90R nwIo states

920 RS N2 TWR MY

MY M5 Mpn RS N3 N2 DRI DA R

RI77 711 737 IR

And the Pasuk in w17 nwao of wi states

TR NRY TOR DR 1P TOR R

1D17W WRA NI I

mapId 07 1o

™MapI2 03T IR IR

Just as the 779mR includes 103, so too, the wny also includes
N2,

Soim XY S S e
=R mE EN B mE N

LIRP P35 D

DafHachaim.org

The Gemara proceeds with

Three sources for no»w and MnIR
regarding :ND1LIND 1N

If a person had a daughter born out-of- wedlock,
and so it’s his daughter but not his wife’s daughter,
and he was nam with her, he gets nonw

There i no explicit source,
because the Fusuk re?a//'m?/ oy statet
frp i N'D TS 1S N i8S R rep
Cp-ae bR
The Pasuk onl% mentions his ?mm// oy,
but dbey not mention hiy own /Wer?

If there is an wxw and MmnTR
for mar withna n3, the second generation,

there certainly is an waw and TR
for mor withina, the first generation

2

NOT NPT NN
Teaches the Oy

NN NN NN
Teaches the PG

=im X' v SR
= e mN SEE e N
AP i b N

s s nen b
NIl s SN

NI el =is el

T R N
=R TR SR TR fromp Hoin D
9 PRE R ot ratale baiiml PR
P 235 15/ oy DIP_IRO PP LD W
LR IRO LR J

7 mEON qi: bnt=niln)f)
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®

PAR 277 AR 1IN

The source for w of \noIRM 102 is in the Pasuk

M5 5An 2 D WR DD

97w WR2 NS5 R TIR DR

The Pasuk adds the word wx to teach that she was HIS

daughter but not his wife’s daughter, in other words, 12 Wi " ; "
MoNNRD, and nﬂf’ Bﬂﬂ iC T'h‘: {»'N T": L
AR DR M3t SAn ... E’ﬂw:ﬂ N Mo NGO AN IR
?; 1501;1@38 nnn» with her own father, she gets now The Pasuk adds the word VJH\.? to ?each
that she was HIS daughter but not his wife’s daughter,
And the source for 7R of 1NOIND N2 is in the Pasuk in other words, nDuNp 1M, and
M 02 nR 551N SR b N3 NS memn »
As Rashi explains VAN ﬂl\ ﬂﬁ‘nﬂ‘?ﬂ'ﬂ =
maa msonn 5 ﬂﬂwﬂ =
A father should not defile his own daughter with mar. If she was narp with her own father,
T she gets nomw
st 9ma mx Senm N
D3 DIHH 5
A father should not defile
. his own daughter with mir
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The Gemara proceeds with three other mw17 in the Pasuk
AmRnd N2 1R 55mn R

1.
MR owH RHW 102 DR 70m2
A father may not assign his daughter to someone for m.

2.

TR MYHR 727

PN DR WA T

A father may not marry off his daughter to an old man,
because as Rashi explains;

POV R AR INDAPD APRY PO

Since they are not intimate, she will be nt» with others.

3,

IR RPY 127

NINIINARIVHI T

A father may not prevent marriage from his daughter who
is already of marriageable age, because

AR ATRONY MRNDY

Since she has a strong desire for a spouse, she will be i3
with others.

DafHachaim.org

The Gemara proceedb.

Three other mwHT in the Pasuk

st 9ma mx DN e

1

N2 DX 902
MYR OWH RHY

A father may not assign his daughter
to someone for mor

2

Wit 7)’)/% »7
1Pt 1N2 IR R*ONN T

A father may not marry off his daughter
to an old man

15 DO DX WO3INH OIOE TON
Since f/be?/ are not infimate,
she will be Y withy othery

3
WIE EPPY I
D212 1N2 RAWPN NT

A father may not prevent marriage from his daughter
who is already of marriageable age

DX O7PDHD DIOHNE
_Sm%&/m/wu‘mn?/ /W@%ar @ spouse,
she will be sy50 with others
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The Gemara proceeds to cite a Machlokes in a Braisa:
The Pasuk states

RI7 T 7R DRI WK DR 1 MWK WR)

TINRNIMRI9IW? WRA

One who marries a woman and her mother, is liable for
197w

SRYPY? 127 says the word jAnK is singular but not plural,
because

737 DIARD PR NP PO PU

In the Greek language, the word 137 means one. There-
fore, the words j7nR1 MR teach

7 DNR NRDIMR

That no7w is given to him and one of the wives, obviously
the second wife.

R2pY 27 disagrees and says that the word jinx is plural,
and the words 170X 1R teach

JPNW NRYIMN

That no7w is given to him and both wives;

Now, as Rashi explains

V"7 IORP R INWR DR NIV RTI R

Obviously, his wife did nothing wrong; she’s not guilty for
him marrying his mother-in law?

Therefore, »2x explains that this refers to ymnn ox, that he
also married his mother-in law’s mother.

And the Machlokes is not an actual Machlokes, because
both agree that he gets 797w for 1nyon or; but rather
MPARIR DWUNT MYDUD

They only disagree as to the source for 197w for 1mmpn ox:
920 SRYHW? 127

DR

170 DINR NIRTININ

SRV’ 117 says that the word j7inx implies only one wife,
imnn, and he derives 1o oR from the mw 70 of it Aot
as mentioned in the previous Daf.

920 R2PY 27

IR

JPDW NRYIMN

R2’pY 17 says that the word jinR implies both wives, 1mnn
and mnn DX

N1 says

A RYR APH RS NN

They disagree whether one gets 197w for marrying his
mother-in-law after his wife's death.

5RpHW? 237 holds

7977w AR IR MNP

Because jonx

1D DAR DRVIMR

The word jonx implies that even when only one wife,
IMPN, remains;

The wny of imnn applies even after his wife's death.
R2’pY 17 holds

1197w PR AR INRY IR

Because

TR

PNV DRVIMR

The word jonx implies only when both wives are alive;
The wny for inmmn only applies while his wife is alive. But
after her death there is no wny only a 77 in the Pasuk
ININN DY 1DV VIR

DafHachaim.org

:t‘/)//)p
N N 2N
RIS AT TR IR PR TR
fomRy R 19 s
One who marries a woman and her mother,
is liable for nonw
Syl 737 sayy PPy 7 say
JNNX is singular 1NNR is plural
"M NHa 1w Sty v teach:
MTANRS P N NNIMN
PP Lo Teack NOMY is given

17 M DN YN f0 him

NOMW is given to him and both wives

and the second wife

WEH DO GIED H7 HO
V79 O HO

Oéuwual?/, hiyy w%’/ did rwz%w?z wrongs;

she’ynat My/or /u’/wmarrw/u}i/wf/w—m/ law?

ook explain
1NN OR

And ity nat aw actual Wachlokes,
because bothy agree he gety r0nt /or Vb
butt rather
DYVOMT MYNWN
1N?71%°2 RIIR
72D R2pY 1) 92D SNvpw 1)
NN DR

JPHY DN) IDIN ]2 DNN HN) 1NN

£P7
NNM INRY 1MNNN
1N?7172 RIOR

NP 1) SNvpw 1)
NI MR LN Ap INRD 1D
NOIVI NN NoMWI

JDDR JDPR
DY DRIINIR - JD DNR DN ININ
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Zugt Di Mishnah

PN R

The following two transgressions are punishable with
970, beheading with a sword.

DNTI0 Y WIRI N7

A murderer, and the residents of a city that worshipped
17 T,

The Mishnah elaborates on nx):

1.

51922 IR 12R2 17V DR 71970 N3

If a nx17 hit someone with a stone or iron and he died, he is
271, because the Pasuk states

111977 5192991 DN ...

T JAR2 DN)...

NI DN v

The Gemara explains that the word 7 implies a handful,
and therefore,

Regarding jax, the Pasuk mentions 7, because a stone
cannot kill if it is smaller than the 1w of 7.

However, regarding 5111

T TIORIND

RITW 92 mon S1ianw

The Pasuk does not mention the word 7, because iron can
kill even if it was smaller than the 17w of 7°; such as
TID PTIaT

The nx11 stabbed someone with the sharp point of even a
small piece of iron.

Rashi adds however,

ROM TI7 199K 797 SR

A RNV

If he did not stab him with the point of the piece of iron,
but struck him with it, even iron requires a 7 W*w for the
Nz to be np 27N,

Dedicated By:
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AT 10N

The following are punishable with
97D, beheading with a sword

DATIR Y WWINY AXYR

A murderer,
and the residents of a city
that worshipped mr nTav

The Mishnahy eluborates on p3)):

brea3 W 1aR2 P AN A2 AXY9

If ansn hit someone with a stone or iron
and he died, he is an

because the Pasuk states
L IR BNy L mE DimE Yo N
M$mE M mmn
f@e?ar/m?/ 7
the Pasuk mentions 1,
because a stone cannot kill

ifitis smaller
than the mwww of 7

Pe?ar/m?/ é»
T NIDNI NS
N branw
NIDw boa
Such a §30 35993
withy f@m/p/ww
oﬂé wmwmﬂp{m o% wonw

Rashis addy however,
W3 HNWE DHOD 97 199H1 1050 53

Z%M/L/M?‘u‘aé hirm withy z‘ﬁe/m’m‘ o% fMWo/@ won,

butt struck him with it, even iron reguirey a > Iyl
/W the: n3p Ty be spp >
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